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B100104036 | > paE(Word 2010 B FH4R) 0 100|  100| &% thEs
B101104019 | >GEpaE(Word 2010 B FH4R) 0 12 12| N EHE thEs
B102102007 | >EpaE(Word 2010 B FH4R) 0[N &1 R
B102102015 | >EpaE(Word 2010 B FH4R) 0 100]  100| &7 thEs
B102102016 | > paE(Word 2010 B FH4R) 0 94| o4latE thEs
B102102023 | >EpaE(Word 2010 B FH4R) 0 94| 94lotE thEs
B102102025 | EpaE(Word 2010 B FH4R) 0 88 88| 41K thEs
B102102040 | > paE(Word 2010 B FH4R) 0 100|  100| &7 thEs
B102102043 | > paE(Word 2010 B FH4R) 0 94| 94latE thEs
B102103004 | EpaE(Word 2010 B FH4R) 0[N &1 R
B102103009 | & paE(Word 2010 B FH4R) 0[N &1 R
B102103010 | >EpaE(Word 2010 B FH4R) 12 12| EHE thEs
B102103014 | >EpaE(Word 2010 B FH4R) 38 38[ AR thEs
B102103020 | >EpaE(Word 2010 B FH4R) 0[N &1 R
B102104003 | > paE(Word 2010 B FH4R) 0[N &1 R
B102104004 | CEpaE(Word 2010 B FH4R) 0 100|  100| &% thEs
B102104021 | >EpaE(Word 2010 B FH4R) 0 100|  100| &% thEs
B102104603 | & paE(Word 2010 B FH4R) 0 26)  26[ N &tk ths
B102208015 | & paE(Word 2010 B FH4R) 0 58] S8[AEE ths
B102208040 | > paE(Word 2010 B FH4R) 0[N &1 R
B102208073 | & paE(Word 2010 B FH4R) 0 0 0|+ &1% thEs
B102208078 | & paE(Word 2010 B FH4R) 0 68| 68| thEs
B102209001 | > paE(Word 2010 B FH4R) 0 92[  92[&f& thEs
B102209009 | & paE(Word 2010 B FH4R) 0 92[  92[&f& thEs
B102209017 | > paE(Word 2010 B FH4R) 0[N &1 R
B102209021 | >EpaE(Word 2010 B FH4R) 0 80|  80|&1& thEs
B102209029 | EpaE(Word 2010 B FH4R) 0[N &1 R
B102209036 | & paE(Word 2010 B FH4R) 0 12 12| &1 thEs
B102209037 | > paE(Word 2010 B FH4R) 0 100|  100| &7 thEs
B102209039 | EpaE(Word 2010 B FH4R) 0 20[  20[~EHE thEs
B102209040 | EpaE(Word 2010 B FH4R) 0 76 76[EHE thEs
B102209041 | >EpaE(Word 2010 B FH4R) 0 82| 82|151K thEs
B102210082 | & paE(Word 2010 B FH4R) 0 62|  62[ N thEs
B102212005 | >EpaE(Word 2010 B FH4R) 0 6 6|~ &% thEs
B102212009 | >EpaE(Word 2010 B FH4R) 0 100|  100| &7 thEs
B102212012 | >EpaE(Word 2010 B FH4R) 0 100|  100| &7 thEs
B102212019 | >EpaE(Word 2010 B FH4R) 0 o4 o4lotE thEs
B102212021 | >EpaE(Word 2010 B FH4R) 0 48] 48[ AEHE thEs
B102212032 | & paE(Word 2010 B FH4R) 0[N &1 R
B102212040 | CEpaE(Word 2010 B FH4R) 0 66|  66[ Nt thEs
B102212047 | >EpaE (Word 2010 B FH4R) 0 80|  80|&1& thEs
B102212075 | >CEpaE (Word 2010 B FH4R) 0 o4 o4lotE thEs
B102212079 | >EpaE(Word 2010 B FH4R) 0 30 30[hEtE thEs
B102212098 | > paE(Word 2010 B FH4R) 0[N &1 R
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B102212105 | >EpaE(Word 2010 B FH4R) 0[N &1 R
B102212127 | >EpaE(Word 2010 B FH4R) 0 100|  100| &7 thEs
B102212149 | >GEpaHE(Word 2010 B FH4R) 0 100|  100| &7 thEs
B102212150 | >CEpaE(Word 2010 B FH4R) 0 66|  66[ Nt thEs
B102212153 | S paH(Word 2010 B FH4R) 0 0 0| &1% thEs
B102212154 | SGEpaE(Word 2010 B FH4R) 0 30[  30[hEtE thEs
B102212164 | SCEpaE(Word 2010 B FH4R) 0[N &1 R
B102212165 | >EpaE(Word 2010 B FH4R) 0 L A =i thEs
B102212166 | S paE(Word 2010 B FH4R) 0[N &1 R
B102212170 | >EpaE(Word 2010 B FH4R) 76 7651 thEs
B102212171 | >EpaE(Word 2010 B FH4R) il I =i thEs
B102212172 | >EpaE(Word 2010 B FH4R) 0[N &1 R
B102212202 | EpaE(Word 2010 B FH4R) 0[N &1 R
B102212243 | SCEpaE(Word 2010 B FH4R) 0 0 0|~ &1% thEs
B102212259 | SCEpaE(Word 2010 B FH4R) 0 70[  70[&HE thEs
B102212262 | SCEpaE(Word 2010 B FH4R) 0 86| 86| 51K thEs
B102212270 | >EpaE(Word 2010 B FH4R) 0 100|  100| &% thEs
B102212283 | S paH(Word 2010 B FH4R) 0[N &1 R
B102212292 | > paE(Word 2010 B FH4R) 0 0 0|+ &1% ths
B102212307 | >EpaE(Word 2010 B FH4R) 0 64| 64T thEs
B102212344 | SCEpaE(Word 2010 B FH4R) 0 94| 94latE thEs
B102213121 | >GEpaE(Word 2010 B FH4R) 0 100|  100| &% thEs
B102213162 | S paE(Word 2010 B FH4R) 0 100|  100| &% thEs
B102213174 | >CEpaE(Word 2010 B FH4R) 0 100|  100| &7 thEs
B102213184 | S paE(Word 2010 B FH4R) 0[N &1 R
B102213190 | & paE(Word 2010 B FH4R) 0[N &1 R
B102219010 | >EpaE(Word 2010 B FH4R) 0 100|  100| &% thEs
B102219080 | & paE(Word 2010 B FH4R) 0 58] S8[AEE thEs
B102219083 | & paE(Word 2010 B FH4R) 0 100|  100| &7 thEs
B102219085 | & paE(Word 2010 B FH4R) 0 100|  100| &7 thEs
B102219097 | >EpaE(Word 2010 B FH4R) 0 100|  100| &7 thEs
B102219118 | & paE(Word 2010 B FH4R) 0 0 0| &1% thEs
B102219130 | S paE(Word 2010 B FH4R) 0 100|  100| &7 thEs
B102219137 | >GEpaE(Word 2010 B FH4R) 0[N &1 R
B102316054 | S paE(Word 2010 B FH4R) 0[N &1 R
B102316067 | & paE(Word 2010 B FH4R) 0[N &1 R
B102316070 | s paE(Word 2010 B FH4R) 0[N &1 R
B103209004 | & paE(Word 2010 B FH4R) 0 86| 86| 51K thEs
B103209007 | >EpaE(Word 2010 B FH4R) 0 48] 48[ AEHE thEs
B103209008 | & paE(Word 2010 B FH4R) 0 12 12| EHE thEs
B103209011 | >EpaE(Word 2010 B FH4R) 0 2| RAEHE thEs
B103209042 | EpaE(Word 2010 B FH4R) 0 o4 o4lotE thEs
B103209049 | s E(Word 2010 B FH4R) 0 6 6|~ &% thEs
B103210136 | > paE(Word 2010 B FH4R) 0 20[  20[~EHE thEs
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B103212168 | S paE(Word 2010 B FH4R) 0 100|  100| &% thEs
B103212227 | >EpaE(Word 2010 B FH4R) 0 nd I =i thEs
B103212231 | >EpaE(Word 2010 B FH4R) 0 40| 40| EHE thEs
B103212238 | S paE(Word 2010 B FH4R) 0 0 0|+ &1% thEs
B103212609 | & paE (Word 2010 B FH4R) 0 12 12| N EHE thEs
B103213123 | > paE(Word 2010 B FH4R) 0 100|  100| &7 thEs
B103213144 | >CEpaE(Word 2010 B FH4R) 0 58] S8[AEE thEs
B103213185 | s (Word 2010 B FH4R) 0 6 6|~ &% thEs
B103219070 | > paE(Word 2010 B FH4R) 0 92[  92[&f& thEs
B103221011 | >EpaE(Word 2010 B FH4R) 0 94| o4latE thEs
B103221027 | >EpaE(Word 2010 B FH4R) 0 84]  84|151K thEs
B103316019 | & paE(Word 2010 B FH4R) 0[N &1 R
B103316043 | & paE(Word 2010 B FH4R) 0 92[  92[&f& thEs
B103316059 | & paE(Word 2010 B FH4R) 0 18 18| N &1 thEs
B103316060 | & (Word 2010 B H4R) 0 40| 40| EHE thEs
B103316063 | & paE(Word 2010 B FH4R) 0 56  S6[ &tk thEs
B103316067 | & (Word 2010 B FH4R) 0[N &1 R
B103316073 | & s (Word 2010 B FH4R) 0 A A =i thEs
B103316077 | & paE(Word 2010 B FH4R) 0 56  S6[hEtE ths
B103316079 | & paE(Word 2010 B FH4R) 0 100|  100| &7 thEs
B103316080 | & paH(Word 2010 B FH4R) 0 68| 68| thEs
B103317007 | >EpaE(Word 2010 B FH4R) 0 86| 86| 51K thEs
B104102605 | & paE(Word 2010 8 FH4R) 0[N &1 R
B104102703 | > paE(Word 2010 B FH4R) 0[N &1 R
B104208702 | > paE(Word 2010 B FH4R) 0[N &1 R
B104209004 | EpaE(Word 2010 B FH4R) 0 6 6|~ &% thEs
B104209045 | & paE(Word 2010 B FH4R) 0 22| 2[R thEs
B104212072 | >GEpaE(Word 2010 B FH4R) 0 56  S6[hEtE thEs
B104212078 | > paE(Word 2010 B FH4R) 0 88 88| &1K thEs
B104212080 | > paE(Word 2010 B FH4R) 0 92[  92[&f& thEs
B104212101 | GEpaE(Word 2010 B FH4R) 0[N &1 R
B104212134 | SCEpaE(Word 2010 B FH4R) 0 R =i thEs
B104212143 | >GEpaE(Word 2010 B FH4R) 0 2 72|51 thEs
B104212160 | SCEpaE(Word 2010 B FH4R) 0 il I =i thEs
B104212178 | & paE(Word 2010 B FH4R) 0[N &1 R
B104212189 | SEpaE(Word 2010 B FH4R) 0 0 0| &1% thEs
B104212191 | >GEpaE(Word 2010 B FH4R) 0 16 16| &1 thEs
B104212193 | S paE(Word 2010 B FH4R) 0 0 0|+ &1% thEs
B104212195 | >GEpaE(Word 2010 B FH4R) 0 70[  70[&HE thEs
B104212197 | >GEpaE(Word 2010 B FH4R) 0[N &1 R
B104212205 | >EpaE(Word 2010 B FH4R) 0 62| 62| thEs
B104212222 | SCEpaE(Word 2010 B FH4R) 0[N &1 R
B104212232 | SGEpaE(Word 2010 B FH4R) 100|  100| &7 thEs
B104221100 | >EpaE(Word 2010 B FH4R) 0 0|+ &1% thEs
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B104221110 | >GEpaE(Word 2010 B FH4R) 0 86| 86| 51K thEs
B104221111 | >GEpaE(Word 2010 B FH4R) 0 32 324 EHE thEs
B104316033 | s (Word 2010 B FH4R) 0[N &1 R
B105102701 | EpaE(Word 2010 B FH4R) 0 100]  100| &7 thEs
B105116028 | & paE(Word 2010 B FH4R) 0 100|  100| &7 thEs
B105116034 | & paE(Word 2010 B FH4R) 0 100|  100| &7 thEs
B105116038 | > paE(Word 2010 B FH4R) 0 24| 24[1h SR thEs
B105116043 | & paE(Word 2010 B FH4R) 0 20[  20[~EHE thEs
B105213045 | & paE(Word 2010 B FH4R) 0 48] 4B AEHE thEs
B105213049 | EpaE(Word 2010 B FH4R) 0 56  S6[ &tk thEs
B105213051 | >GEpaE(Word 2010 B FH4R) 0 62|  62[ N thEs
B105213054 | > paE(Word 2010 B FH4R) 0 80|  80|&1& thEs
B105213055 | > paE(Word 2010 B FH4R) 0 86| 86| 51K thEs
B105213060 | > paE(Word 2010 B FH4R) 0 100|  100| &7 thEs
B105213065 | & paE(Word 2010 B FH4R) 0 2] R[rEHE thEs
B105213070 | > paE(Word 2010 B FH4R) 0 261  26[ Ntk thEs
B105213072 | >EpaE(Word 2010 B FH4R) 0 6 6|~ &% thEs
B105213078 | > paE(Word 2010 B FH4R) 0 92[  92[&f& thEs
B105213084 | S paE(Word 2010 B FH4R) 0 86| 86| 51K thEs
B105213100 | >EpaE(Word 2010 B FH4R) 0 24| 24[1h SR thEs
B105219022 | & paE(Word 2010 B FH4R) 0[N &1 R
B105219040 | S paE(Word 2010 B FH4R) 0 d I =i thEs
B105219042 | EpaE(Word 2010 B FH4R) 0 62|  62[ N thEs
B105310085 | & paE(Word 2010 B FH4R) 50[  S0[EtE ths
B105310087 | > paE(Word 2010 B FH4R) 0[N &1 R
B105310099 | & E (Word 2010 B FH4R) 0 A =i thEs
B105310100 | >EpaE(Word 2010 B FH4R) 0 38 38[ AR thEs
B105312025 | >EpaE(Word 2010 B FH4R) 0[N &1 R
B105312041 | >GEpaE(Word 2010 B FH4R) 0 86| 86| 51K thEs
B105312045 | >CEpaE(Word 2010 B FH4R) 0 58] S8[AEE thEs
B105312047 | >CEpaE(Word 2010 B FH4R) 0 84]  84|151K thEs
B105312048 | s E(Word 2010 B FH4R) 0 100|  100| &7 thEs
B105312049 | SCEpaE(Word 2010 B FH4R) 0 100|  100| &7 thEs
B105312054 | >CEpaE(Word 2010 B FH4R) 0 68| 68| thEs
B105312061 | >EpaE(Word 2010 B FH4R) 0 2] RrEHE thEs
B105312105 | & paE(Word 2010 B FH4R) 0[N &1 R
B105312116 | > paE(Word 2010 B FH4R) 0[N &1 R
B105312117 | >GEpaE(Word 2010 B FH4R) 0[N &1 R
B105312123 | & paE(Word 2010 B FH4R) 0 58] S8[AER thEs
B105312125 | >GEpaE(Word 2010 B FH4R) 0 16 16| &1 thEs
B105312162 | SGEpaH(Word 2010 B FH4R) 0 8 8|~ &t thEs
B105312175 | >EpaE(Word 2010 B FH4R) 0 88| 88| &1K thEs
B105312176 | > paE(Word 2010 B FH4R) 0 46| 46| Nk thEs
B105321001 | & paE(Word 2010 B FH4R) 0 100]  100| &% thEs
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B105321002 | >EpaE(Word 2010 B FH4R) 0 6 6|~ &% thEs
B105321004 | CEpaE(Word 2010 B FH4R) 0 8 8|~ &t thEs
B105321005 | & paE(Word 2010 B FH4R) 0 100|  100| &7 thEs
B105321006 | & paE(Word 2010 B FH4R) 0 80|  80|&1& thEs
B105321010 | > paE(Word 2010 B FH4R) 0 66|  66[ Nt thEs
B105321012 | >EpaE(Word 2010 B FH4R) 0 80|  80|&1& thEs
B105321013 | > paE(Word 2010 B FH4R) 0 56|  S6[hEtE thEs
B105321016 | > paE(Word 2010 B FH4R) 0 94| o4latE thEs
B105321017 | >EpaE(Word 2010 B FH4R) 0 38 38[ AR thEs
B105321020 | EpaE(Word 2010 B FH4R) 0 14] 14| A EH8 thEs
B105321022 | EpaE(Word 2010 B FH4R) 0 34| 4[N EHE thEs
B105321023 | >EpaE(Word 2010 B FH4R) 0 6 6|~ &% thEs
B105321026 | SCEpaE(Word 2010 B FH4R) 0 100|  100| &7 thEs
B105321053 | > paE(Word 2010 B FH4R) 0 60[  60[NEHE thEs
B105321054 | & paE(Word 2010 B FH4R) 0 20[  20[~EHE thEs
B105321059 | >EpaE(Word 2010 B FH4R) 0 nd I =i thEs
B105321066 | & paE (Word 2010 B FH4R) 0 92[  92[&f& thEs
B105321067 | & paE(Word 2010 B FH4R) 0 100|  100| &7 thEs
B105321069 | & paE(Word 2010 B FH4R) 0 86| 86| 51K thEs
B105321071 | >GEpaE(Word 2010 B FH4R) 0 92[  92[&f& thEs
B105321073 | >EpaE(Word 2010 B FH4R) 0 46| 46| Pk thEs
B105321078 | s E(Word 2010 B FH4R) 0 94| 94lotE thEs
B105321107 | >EpaE(Word 2010 B FH4R) 0 84]  84|151K thEs
B105321108 | > paE(Word 2010 B FH4R) 0 84|  84|151K thEs
B105321109 | >EpaE(Word 2010 B FH4R) 0 92[  92[&f& thEs
B105321111 | >GEpaE(Word 2010 B FH4R) 0 100]  100| &7 thEs
B105321118 | > paE(Word 2010 B FH4R) 0 100|  100| &% thEs
B105321119 | EpaE (Word 2010 B FH4R) 0 B I =i thEs
B105321120 | >CEpaE(Word 2010 B FH4R) 0 100|  100| &7 thEs
B105321121 | & paE(Word 2010 B FH4R) 0 70[  70[&HE thEs
B105321122 | & paE(Word 2010 B FH4R) 0 60[  60[NEHE thEs
B105321124 | >GEpaE(Word 2010 B FH4R) 0 86| 86| 51K thEs
B105321125 | & paE(Word 2010 B FH4R) 0 o4 o4lotE thEs
B105321126 | & paE(Word 2010 B FH4R) 0 100|  100| &7 thEs
B105321129 | EpaE(Word 2010 B FH4R) 0 32 324 EHE thEs
B105321130 | > paE(Word 2010 B FH4R) 0 100|  100| &7 thEs
B105321131 | >GEpaE(Word 2010 B FH4R) 0 88| 88| &1K thEs
B105321163 | & paE(Word 2010 B FH4R) 0 86| 86| 51K thEs
B105321200 | EpaE(Word 2010 B FH4R) 0 100|  100| &7 thEs
P103102009 | “cE i (Word 2010 F FI4R) 0 0 0| &1% thEs

ERE &R (Word 20105 %) 0 100]  100| &7 thEs
B102212145  |HifE#HRPowerPoint 2010 E Y| 0 45| 45|tk thEs
B102212168 _|iifiis(PowerPoint 20102 4 0 23] et thEs




